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Instructions Time : 3 Hours

Answer Part I and any two from Part 11.

Part1
QUESTION 1 ‘
Find the centroid of the Scction shown in fig. 1. "All dimensions are in millimetres.
{101
QUESTION 2
I
Calculate the I and 1, of the Section shown in fig. 2. All dimensions arc in millimetres.
[15]
QUESTION 3
For the cantilever loaded as shown in fig. 3, calculate
a) The bending moment at the 40 KN load.
b) The bending moment at the point D
c) The maximum bending moment and draw the bending moment and shearforce
diagrams. [25]
Part 11
QUESTION 4
A timber joist 75 mm wide has to carry a uniform load of 10 KN on a span of 4 m. The bending
stress is to be 6 N/mm?’. What depth should the joist be? 125]
QUESTION 5
A simple lap joint with four 20 mm diameter hand-driven rivets is shown in fig. 4. Calculate the
safe load w. [25]
QUESTION 6

Calculate the safe inclusive uniformly distributed load for a 457 x 145 UB52. Simpl;‘ supported

at its ends if the span is 6m. The maximum permissible bending stress is 165 N/mm® and

the maximum permissible deflection is 1/360 of the span. E is 205 000 N/mm?, Z949 000 mm’,

I =190,4x 10° mm". . w 1291
C LIBRARY U3 ONLY

® Page1of1




X226 mMm ———t

F:'ﬂ’. |

!
i
K kA

20mm dia ham{—iriv’m r'\ve[%},—'n_.q;

E
sl
gl £
1
L
F.'\T.,Z
40 KN 10kN
L—-I~5'm-—/l:‘)
30kN ToTAL ]
S 5ot H—Im F—I5m —f
F{j 3
i . '.\
[Oo-mm)(IOmml Plae ! . i “;Wwa‘ [ I
: : !
W< *3‘ } t  p—) 5
I [ - N (6—>‘W
I

106 mm X /2 mm }’IUJE

F.'\74a



